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Acct 2301

Fall 2006

Chapter 10 Problems
1. Randall Company paid $70,000 to purchase a depreciable asset.  The asset is expected to produce annual cash inflows of $13,000 per year for ten years.  Western’s desired rate of return is 12%.

a. What is the present value of this investment?
$13,000 * 5.650223 = $73,453
b. What is the net present value of this investment?
$73,453 - $70,000 = $3,453
2. Swisher Company is considering two investment opportunities.  Each investment costs $10,000 and will provide the same total future cash inflows.  The schedule of estimated cash receipts for each investment follows:
Investment 1

Investment 2



Year 1


$5,000*.909091=4545
$3,000



Year 2


$4,000*.826446=3306
$3,000



Year 3


$2,000*.751315=1503
$3,000



Year 4


$1,000*.683013=  683
$3,000






PV of cash in  = $10,037    
a.) Determine the net present value of each investment assuming a 10% desired rate of return.

Investment 1 = $10,067 – 10,000 = $37

Investment 2 = $3000 * 3.169865 = $9,510 – 10,000 = ($490)
b.) Which investment should Swisher Company take?

Investment 1
3. Castro Inc. purchases an asset that costs $300,000.  The asset has a five-year useful life, no salvage value, and is depreciated on a straight-line basis.  The asset generates cash revenue of $105,000 per year.  Assume Castro’s income tax rate is 30%.  
a.)  What is the net present value of the asset, assuming Castro desires to earn a 10% rate of           return after taxes?



1st – Find amount of income tax


$105,000    Add’l Revenue



(   60,000)  Add’l Expense – Depreciation ($300,000 / 5 = $60,000)


$  45,000    Income before taxes


*        30%  Income tax rate



$  13,500     Tax Due



Cash in = 

$105,000 



(Cash out)=

(  13,500)



Net annual cash inflow =
$ 91,500



$91,500 * 3.790787 = $346,857 – 300,000 = $46,857
4. Lamb Company has the opportunity to purchase an asset that costs $70,000.  The asset is expected to increase net income by $40,000 each year.  The asset has a 7-year useful life.  Based on this information, what is the payback period?
$70,000 / $40,000 = 1.75 years
5.  
ABC Company has an opportunity to invest in a depreciable asset that will yield a net cash inflow of $30,000 per year for four years.   ABC’s desired rate of return is 10%.  Based on this information, what is the present value of the investment opportunity (round to the nearest whole dollar)?


$30,000 * 3.169865 = $95096
6.
Western Company can purchase an asset that costs $1,166,900.  The asset is expected to produce net cash inflows of $300,000 per year for five years.  Based on this information alone, the investment is expected to yield an internal rate of return closest to


1st – find PV factor
$1,166,900 / $300,000 = 3.8899666

2nd – look factor up on chart
IRR = 9%

7.  
Use the following information to answer the next two questions:  Kramer Company paid $60,000 to purchase a depreciable asset.  The asset is expected to produce annual cash inflows of $12,000 per year for ten years.  The asset has a $5,000 salvage value.  Kramer’s desired rate of return is 12%.

a.  What is the present value of this investment (round to the nearest whole dollar)?


$12,000 * 5.650223 = $67,803

$  5,000 * 0.321973 = $  1,610


Total PV
    = $69,413
b.  What is the net present value of this investment?

$69,413 – 60,000 = $9,413
8.
Barney’s Bagels invested in a new oven for $15,000.  The oven reduced the amount of time for baking which increased production and sales for five years by the following amounts of cash inflow:

	Year 1
	Year 2
	Year 3
	Year 4
	Year 5

	$8,000
	$6,000
	$5,000
	$6,000
	$5,000



a.  Using the incremental approach, the payback period for the investment in the oven would be:






Total


Year 1  $8000


$  8,000
Year 2 $6,000


$14,000

Year 3 $1,000 out of $5,000
$15,000
Need all of Years 1 and 2, but only part of Year 3.

$1,000 / $5,000 = 0.20

Payback Period = 2.2 years


b.  Using the averaging approach, the payback period for the investment in the oven would be:


$8000 + 6000 + 5000 + 6000 + 5000 = $30,000 / 5 = $6,000


$15,000 / $6,000 = 2.5 years
